61. Cleaning up the Snow
In winter, when days become shorter, and nights longer, it is necessary to think about cleaning up the streets from the snow. But the budget of our city is very small that is why we have just only one snowmobile. The roads must be cleaned out without regard to it. Consequently each time when falls a lot of snow, at night the snowmobile of our city drives out from a garage and goes around all the city cleaning the roads. Find the minimum time a snowmobile need o clean all the roads and return back to a garage? It is known that:

· A snowmobile can clean out only one road for a one passage-way.

· All roads are lines with one bar of motion in every direction.

· A snowmobile can return on any crossing in any direction, and also can turn out in a deadlock.

· During the cleaning up the snow a snowmobile moves with speed 20 Km/hour, and with speed 50 Km/Hour on the already cleaned road.

· Opportunity to drive all the roads always exists.

Input. The coordinates x, y (-30000 ≤ x, y ≤ 30000) of the hangar (in meters), where from the snowmobile starts to move, are given in the first line. Then the coordinates (in meters) of the beginning and the end of the streets (4 integers in each line) are given. There can be up to 100 streets.

Output. Time in hours and minutes needed for clearing all the roads and returning to the hangar. Time must be rounded to the minutes.
	Sample input
	Sample output

	0 0

0 0 10000 10000

5000 -10000 5000 10000

5000 10000 10000 10000
	3:55


SOLUTION
graphs – Euler cycle
Algorithm analysis

Рассмотрим граф, в котором вершинами выступают перекрестки и тупики улиц. Поскольку каждая улица должна быть убрана от снега с двух сторон, то можно утверждать, что степень каждой вершины графа будет четной. Поскольку возможность проехать все дороги всегда существует, то граф является связным. 
Euler theorem. Связный неориентированный граф содержит Эйлеров цикл тогда и только тогда, когда количество вершин нечетной степени равно нулю.

Из теоремы Эйлера следует, что граф содержит Эйлеров цикл, по которому как раз и может пройти снегоуборочная машина. То есть она всегда будет идти очищая снег со скоростью 20 км/час и пройдет расстояние, равное удвоенной сумме длин всех дорог.
Algorithm realization

Read the information about the roads. Calculate their total length in the variable s.

scanf("%lf %lf",&xx,&yy);

while(scanf("%lf %lf %lf %lf",&xx,&yy,&xx1,&yy1) == 4)

  s += sqrt((xx1 - xx)*(xx1 - xx) + (yy1 - yy)*(yy1 - yy));

Длина пути, которую пройдет снегоуборочная машина, равна 2s метров. Поскольку скорость машины при уборке снега равна 20 км/час = (20 * 1000 / 60) м/мин, то общее время ее работы составит 
[image: image1.wmf]1000

20

60

2

×

×

s

 = 
[image: image2.wmf]500

3

s

 минут.

time = (int)(3 * s / 500 + 0.5);

printf("%d:%d\n",time/60,time%60);
Java realization
import java.util.*;
public class Main
{
  public static void main(String[] args)
  {
    Scanner con = new Scanner(System.in);
    double x = con.nextDouble();
    double y = con.nextDouble();
    double s = 0;
    while(con.hasNext())
    {
      x = con.nextDouble();
      y = con.nextDouble();
      double x1 = con.nextDouble();
      double y1 = con.nextDouble();
        s += Math.sqrt((x1 - x)*(x1 - x) + (y1 - y)*(y1 - y));
    }
    int time = (int)(3 * s / 500 + 0.5);
    System.out.println(time/60 + ":" + time%60);
    con.close();
  }
}
Python realization
import sys

import math

x, y = map(float,input().split())

res = 0

for s in sys.stdin:

  x, y, x1, y1 = map(float,s.split())

  res += math.sqrt((x1 - x) * (x1 - x) + (y1 - y) * (y1 - y))

time = int(3 * res / 500 + 0.5)

print(time // 60, time % 60,sep=':',end='\n')
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